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Practice Midterm1 {Take-home guiz 6, due on Tue, Oct 11)

Q1 Below is the graph of a force function F ) (in Ibs).
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Q3 Determine whether the following limits exist or not. Find the limit if it exists. n SIAX
! A~
(a) ‘ Sz
by L sind ot |~y =[-]=0 '5%5:‘-) - >
0-7/2 1 + cos{28) - ‘ / T _ I £
+A2 )=~ 20 -

&gl Lol B N m

) ‘ - &EX
TEIHOO \/E'e—m/Q 71{1144‘(3 e -0 5 l)QeO ?/h) A ;&y/;/} :;B,Qé)
o0 B2 22
+Hnt, Q#A = féﬁ—

() % '
lim #-tan *(1/#) >~ ‘Dﬁ”’:_&
fsH
Wit BL) =N E >

Guctvom: NO/ Induormnate &Dfa_ *é]k - ~

Q4 Evaluate the following integrals
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Q4 Evaluate the following integrals.

(a)

/ mdi b x4] > t6+] =B
Tgy% Lo @X =t
bint2: la 73;@?%«,;3 w@:;-%%—; @c@:&!@ t sza?b&{y/
te. ﬁg_f \
‘Qﬂk/& ODD !’U\J,Q_ "\‘{Qg" Sif\ — (A Praoh)t{'t‘
(b) fm oo Lind, x“’ﬂﬁ[xX—-b! et (><~73-[‘><+3\)
R e PFD W& ?4( foo  dibinct fheap éﬁgg@p}/g#
A JL

(- [xa@ WO
qu“/;* f;ichﬁ /n/)cﬁa&k) fC,

hed:  hA —ha= S

e bk = ok



Math133 Section 81, Fatt 2016

35 The solid is generated by revolving the curve y = cosz — 1 for § < o < /2 about the axis y = 1.

{a) Sketch the solid and set up an integral for the volume of it.
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Q6 A tank (shown below) is full of oil weighing 10 b/ ft*. Find vhe work required to pump the oil out of
the spout. The base is a 10 x 6/3 rectangle. The back end is a 6 x 10 rectangle, the two sides are right
triangle with height 6, base 6v/3 and hypotenuse 12 (all in #t). The spout is 6 ft from the base.
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Integrals : Derivatives
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